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ABSTRACT

Shareholders have imperfect ontrol over the decisions of the management of a firm. We integrate

a widely accepted version of the separation of ownership and control -- Jensen's (1986) free cash

flow theory--into a dynamic equilibrium model and study the effect of imperfect corporate control

on asset prices and investment. We assume that firms are run by empire-building managers who

prefer to invest all free cash flow rather than distributing it to shareholders. Sharefholders are aware

of this problem but it is costly for them to intervene to increase earnings payouts. Our corporate

finance approach suggests that the aggregate free cash flow of the corporate sector is an important

state variable in explaining asset prices and investment. We show that the business cycle variation

in free cash flow helps explain the cyclical behavior of interest rates and the yield curve. The

stochastic variation in free cash flow sheds light on risk premia in corporate bonds and out-of-the-

money put options. We show that the financial friction causes shocks to affect investment, and

causes otherwise i.i.d. shocks to be transmitted from period to period. Unlike the existing

macroeconomics literature on financial frictions, the shocks propagate through large firms and

during booms.
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Figure 2: Productivity shocks in CIR

3$�Z�� n $jjZR��s��R �Y� �&�{�R BP RYB{,R �B AB�Y }�BIZ{�$%$�k sR b�jj sR ���s$t�I �s�t$t�R

$t �Y� P���T{sRYT4Bb 8BI�j� qY� j�P�TYstI }st�j s�� RYB{,R b$�Y$t �Y� B}�$8sjT$t%�R�8�t�

���$Bt� WB�� �Ys� �Y� I�8stI PB� PZtIR $R NTRYs}�I� 3$�8R b$jj sjbskR $t%�R� �Y�$� ���s$t�I

�s�t$t�R� ���s�Ij�RR BP �Y� $t����R� �s��� qY$R R��R s 8$t$8Z8 s8BZt� BP $t%�R�8�t�� V�

jBb $t����R� �s��R� b� s�� As{, $t �Y� ]yi {sR�U 3$�8R htI �Ys� �Y�$� }�BIZ{�$%$�k $R Y$�Y

��js�$%� �B �Y� $t����R� �s�� stI sR RZ{Y �Y�$� $t%�R�8�t� I�8stI $R }��P�{�jk �jsR�${� qY�

NTRYs}�I I�8stI {Z�%� $R �Y� ]yi {sR� b$�Y s 8$t$8Z8 $t%�R�8�t� j�%�j �JZsj �B ���s$t�I

�s�t$t�R�

V RYB{, �B �-}�{��I }�BIZ{�$%$�k 8B%�R AB�Y RZ}}jk stI I�8stI {Z�%�R Z} stI RY$P�R

�JZ$j$A�$Z8 P�B8 }B$t� V �B }B$t�  � qY� t�� �&�{� Bt �Y� $t����R� �s�� $R �Y� Rs8� sR $t

�Y� ]yi {sR� w3$�Z�� 1D� qY��� $R sjRB s RYB{, �B ���s$t�I �s�t$t�R�  Z� $� YsR tB �&�{� Bt

�Y� �JZ$j$A�$Z8 $t �Y$R ���$Bt�

qY� �$�Y�TYstI }st�j $jjZR��s��R �Y� �&�{� BP �Y�R� RYB{,R bY�t �Y� ���s$t�I �s�t$t�R

RYB{, $R js��� �tBZ�Y �B �s,� �Y� �{BtB8k $t�B �Y� B%��T$t%�R�8�t� ���$Bt� V� �Y� 8s��$t�

8sts���R $t%�R� sjj BP �Y�$� ���s$t�I �s�t$t�R� qYZR $t����R� �s��R �$R� tB� Btjk A�{sZR� BP

�Y� �$R� $t �-}�{��I }�BIZ{�$%$�k� AZ� sjRB �B $tIZ{� $t%�R�B�R �B s{{�}� �Y� Y$�Y�� ��JZ$��I

Rs%$t�R j�%�j�

_jsZR$Ajk� s� AZR$t�RR {k{j� P��JZ�t{$�R� RYB{,R �B �s�t$t�R s�� 8Z{Y js���� �Yst RYB{,R

�B �-}�{��I }�BIZ{�$%$�k� Vt sRR�� }�${$t� 8BI�j RZ{Y sR ]yi j$t,R sjj {k{j${sj %s�$s�$Bt

$t $t����R� �s��R `ZR� �B %s�$s�$Bt $t '0Ld� sR {st A� R��t $t �Y� I$s��s8� <Bb�%��� $t �Y�

B%��T$t%�R�8�t� ���$Bt BP �Y� P���T{sRYT4Bb 8BI�j� js��� RYB{,R �B ���s$t�I �s�t$t�R Ys%�

js��� �&�{�R Bt $t����R� �s��R� qYZR s RZ{{�RR BP �Y� P���T{sRYT4Bb 8BI�j $R �Ys� $� j$t,R

dx



It

rt

A

B

It

rt

A

B

Figure  3: Simultaneous shocks to earnings and productivity

(ii) : Into over-investment region(i) : Within optimal-investment region
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Figure  4: UK Estimated real and nominal 3-month interest rates.

Source: Campbell and Barr (1997, Figure 2)
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Figure 5: Short and Long term Interest Rates from UK Index-Linked Bonds
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Figure 6: CIR and CF Pricing Kernels
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Figure 7: Free Cash Flow and Investment, 4Qtr Change
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Figure 8: Aggregate Free Cash Flow and Investment, Ratio to GDP
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